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1. Find general solution of the following linear system. Write the solution in matrix form.
(16 points)
4x1 - 3x3+2x5=1
2X2 + 3x4 +5x5 = -2
X1 +3x2—-%X3+4x4=-3

2
3} ,  Compute A*°° (16 points)

~1
2. LetA= [
, 4

3. Given 3 points in 3-space P1( -2, 3, 8), P2(3, -1,9) and P5(1, -4, 7). Find the area of AP PPy
(16 points)

2 -9 -5 -8
, X , 6 -3 4 2 _
4. Find the determinant of matrix A, A= { s { —2 (16 points)
4 8 4 2]
-2 3 1
5. A= | 5 -2 7|,FindA. (16 points)
-3 2 4
2 4 3
6. Find eigenvalues and eigenvectors of matrix A if it exists, where A = 0 -3 -2
0 0 1

(20 points)




